BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

10%

2x10° 5%x10°

10

10 100

1

10*

1000

100

rm297 2/(401806 —4968)=0.901

— 1 ' T T T r T T T T T T T 1
i BIC 421693 38 ABIC 0. OOO AIogP 0.0000 ]
- : x 357587.69 Ax 0.000 AlogP 0.0000 A
e — - — - - == — |
o mmmn
| ABIC —126234 |
, A? —126247
4967 : 4968
A ' ACq
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
10 20 30 40 50 60
60 iterations
rm297 2/(401806 4968) 0.901
E™ +~ ' +~ T - T T T T T T T T T T T T — 1
F BIC 421693 38 ABIC 0. OOO AIogP 0.0000 7
. A v % 357587.89 Ax 0.000 "AlogP "0.0000 3
I Aol Y A
2 A T T P T S T
10 20 30 40 50 60
60 iterations
Fe2 106778% 356+121 km/s
rm297 BLR 2840 NLR 900 km/s

60 iterations

BIC

1 BLR

NLR

Fell

kdh1 15-0ct-2021 Q1:41



